Lung
0.1972 0.0449
—~ 3 . 2.5+
£ c
Q 5| S
5 2 5 1.5
2 2 1.0
o 1— o))
= =
o o 0.5
s =
AN > Q&
6\&0 OQ}\'Q O(,\\SO OQ}}
P o O
B
Liver
0.6991 0.0225
—~ 2.5 — 2.0
£ £
Q Q
© 2.0 °
a a
G 1.5 G
< o
2 1.0 2
2 S
SalHE
= <
< 0.0-
A QO
(O
C
Heart
0.0173 0.0062
— 4 . 2.0
£ c
2 0]
S a_| 3 |
s 3 g_ 1.5
© ‘s
‘Tg 2— Tg 1.0+
()] ()]
£ 1+ : £ 0.5
o o
z, 1= | =
('\60\06\\(\ &c}oé}\ﬁ\
C)o C}o ()O O\o
D
Kidney
0.6564 0.2457
—~ 104 — 045 —
£ c
) @
© 0.8 5 _
s g_ 0.3
S 0.6 ©
o o 0.2
2 04+ ;
2 o2 £ 01
o Y o
NI NI
< 0.0~ H < 0.0-!
o & >
s & s oo?}
(@) c}o (¢ 0\

0.0768 0.5476
= 0.06— = 0.20—
[} 2
g 2 015
5 0.04 -
R "9 0.10—
2 (.02 2
< = 0.05-
+ I
()] ()]
< <
Z 0.00- Z 0.00-
© g Na
P e
0.0688 0.0580
= = 1.0
5 2
B S 0.8
3 2
5 5 06
Y el
(2] 3
o —
= o 04
= ~
o T 0.2
2 2
s 2 00-
A
& g
<y ©
<0.0001 0.1077
< 0.25— < 0.25
2 2
S 0.20 S 0.20
[o% [o%
5 0.15+ 5 0.15
! 'O
2 0.10 2 0.0
2 £
> 0.05 T 0.05-
2 2
Z 0.00- Z 0.00-
< &Ce®
0.0118 0.0012
025 — =044 —
g 2
D 020~ 205,
S 015 S
o = 0.2
2 0.10 >
< : £ |
+ 005- z 01
Z 0.00- i $ 0.0-
S A
e N
PP P °

E
Rotarod Test
0.0172
400
3004 : &
5 200
o
o 100
=
|_
07
00
F
Inverted Cage Test
0.0090
60 —
@ 40 '
S :
o Lo
> 20— —+
0 :
c 2 |
[0} S .
§ o .
0=
N
C)o Oﬂo
G
OGTT
250 —— Control
o
= L .
S 200 Crocetin
E
?
o 150
[S]
=)
O]
100 —
I I I I I
0 15 30 60 120
Time (min.) after glucose injection (oral)
H
Life span
T 100
2
: 1
=]
“U_J —— Control
; 504 —— Crocetin
S p= 0.0024
®©
e}
g
o
0 { {
0 500 1000

No of Days



